FREFEDOANE L L5561

FREFEDOANZ {551

FH#EGEDEE

FHKE = 57 m 1FskY= 950 m  Ei-4-OF = O 25mm

FHIGFEDSEE
FHAAE = 56 m 1FbrY= 933 m  Ei-4-OF = O 25mm
F# = 6 F HERE = 1.10
2 HARHE
LKEHE CEERERD)
XHKE H (M) KE(m) &)
10M=ET FHK=1100.0 9.3 1,100.0
20M=ET 88.0 0 0.0
40mM=ET 1155 0 0.0
60M=ET 1375 0 0.0
80M=ET 176.0 0 0.0
100m=ET 209.0 0 0.0
10Tm~ 236.5 0 0.0
1EHEYEKENE 5 CEERFA) 1,100.0
EkENE 5 CEEFHEFR) | 6,600.0
FA—2—ERAH CEEHRFRA) 176.0
LKEEE CHEREIA)X 6,770

X T0RRETET

BEHEDSEE
ERAKE = 56m FrA-4-O%F = O 25mm
HERE = 1.10
2 »HAHE
FKEHECHEREA)
EHKE EmA) K= (m) e )
10M=ET EHK=1100.0 10.0 1,100.0
20M=ET 88.0 10 880.0
40M=ET 115.5 20 2,310.0
60M=ET 1375 16 2,200.0
8OM=ET 176.0 0 0.0
100M=ET 209.0 0 0.0
10Tm~ 236.5 0 0.0
FKEHE HCEEHRSD) 6,490.0
BA—S—ERAHCEEHRER) 176.0
LKEHE CEEBRZA)X 6,660

F#H = 6 F HERE=> 1.10
2 »AFE
FKEHECEER SN
X5nKE @A) KE(m) #E(H)
10M=&ET FHK=1100.0 95 1,100.0
20M=ET 88.0 0 0.0
40mM=ET 1155 0 0.0
60M=ET 1375 0 0.0
80M=ET 176.0 0 0.0
100mM=ET 209.0 0 0.0
101m~ 236.5 0 0.0
1EHEY EKERE FHCEEHERA) 1,100.0
EKENE HCEEREA) | 6,600.0
BA——ERHECEEREA) 176.0
LKEHE CHEBREA)X 6,770
X 10MRFETIET
BEFEDSES
HRKE = 57m Fi-4-0O0% = © 25mm
HERE > 1.10
2 HAFE
LKEHECHEREN)
X5nKE EXil(E)) KE(m) e )
10M=ET FK=1100.0 10.0 1,100.0
20M=ET 88.0 10 880.0
40MZET 1155 20 2,310.0
60M=ET 1375 17 2,3375
80M=ET 176.0 0 0.0
100M=ET 209.0 0 0.0
101m~ 236.5 0 0.0
LXKEHRE F CHEERED 6,627.5
BA—S—ERAHCEEREA) 176.0
EXKEHE CEERSA)X 6,800

X 10AREYIHET

X 10ARimYIHET




